

# An Asymptotic Formula on an F.Smarandache Function

#### **Mingshun YANG**

Department of Mathematics and Information Science, Weinan Teachers University, Weinan, China Email: yangms64@sohu.com

**Abstract:** For any prime p, let  $e_p(n)$  denotes the largest exponent of power p which divides n. the arithmetical function  $e_{pq}(n)$  defined as follows: for any two primes p and q with (p,q)=1, let  $e_{pq}(n)$  denotes the largest exponent of power pq which divides n. In this paper, we use the elementary methods to study the mean value properties of  $e_{pq}(n)$ , and give an interesting asymptotic formula for it.

Keywords: the perfect k-th power number; asymptotic formula; Mean value.

#### **1** Introduction

For any prime p, let  $e_p(n)$  denotes the largest exponent of power p which divides n. In problem 68 of reference [1], Professor F. Smarandache asked us to study the properties of this arithmetical function. About this problem, many scholars showed great interest in it, and obtained some interesting results, see references [2] and [3].Similarly, we will define arithmetical function  $e_{pq}(n)$  as follows: for any two primes p and q with (p, q) = 1, let  $e_{pq}(n)$  denotes the largest exponent of power pq which divides n. That is,  $e_{pq}(n) = \max \left\{ a : (pq)^a \mid n, a \in N^+ \right\}$ 

According to [1], a number n is called a perfect k-th power number if it satisfied  $k \mid a$  for all  $p^a \mid\mid a$ , where  $p^a \mid\mid a$  denotes  $p^a \mid a$  but  $p^{a+1}$ † n. Let A denotes the set of all the perfect k-th power numbers. It seems that no one knows the relations between these two arithmetical functions before. The main purpose of this paper is using the elementary methods to study the mean value properties of  $e_{pq}(n)$  acting on the set A, and give an interesting asymptotic formula for it. That is, we shall prove the following:

Theorem. Let p and q are two primes with (p, q) = 1, then for any real number  $x \ge 1$ , we have the asymptotic

formula

$$\sum_{\substack{n \le x \\ n \in A}} e_{pq}(n) = C_{P,q} k x^{\frac{1}{k}} + \left(x^{\frac{1}{2k}+e}\right) \qquad \text{,Where}$$

1/1

$$C_{p,q} = \frac{(p-1)(q-1)}{pq} \sum_{n=1}^{\infty} \frac{n}{(pq)^n}$$
 is a computable positive

constant, and *e* denotes any fixed positive number.

## 2 Proof of the Theorem

In this section, we shall complete the proof of the theorem. First we define arithmetical function a(n) as follows:

$$a(n) = \begin{cases} 1, if n \text{ is a perfect } k - th \text{ power number} \\ 0, & otherwise \end{cases}$$
 In or-

der to complete the proof of Theorem, we need the following:

Lemma. For any real number  $x \ge 1$ , we have the asymptotic formula

$$\sum_{\substack{n \le x \\ (n, pq) = 1}} a(n) = x^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} + O\left(x^{\frac{1}{2k} + e}\right) 1$$

Proof. Let  $f(s) = \sum_{\substack{n=1 \ (n,pq)=1}} \frac{a(n)}{n^s}$  where  $\operatorname{Re}(s) > 1$ . From

the Euler product formula [4] and the multiplicative properties of a(n), we have

$$f(s) = \prod_{\substack{P \\ (P,pq)=1}} \left( 1 + \frac{a(P^k)}{P^{ks}} + \frac{a(P^{2k})}{P^{2ks}} + \mathbf{L} \right)$$
$$= \prod_{p} \left( 1 + \frac{1}{P^{ks}} + \frac{1}{P^{2ks}} + \mathbf{L} \right) \times \left( 1 - \frac{1}{p^{ks}} \right) \times \left( 1 - \frac{1}{q^{ks}} \right)$$
$$= z(ks) \left( 1 - \frac{1}{p^{ks}} \right) \times \left( 1 - \frac{1}{q^{ks}} \right)$$

where z(s) is the Riemann zeta-function, and  $\prod$  denotes the product over all primes.

Now by Perron formula [5] with

Foundation project: Supported by the Education Department Foundation of shanxi Province (09JK432) and Education Reform Project of Weinan Teachers University (JG200903).

Biography: Yang Ming-shun (1964-), male, native of Weinan, Shannxi, an associate professor of Weinan Teachers University, engage in number theory



$$s_0 = 0$$
 ,  $b = \frac{1}{k} + \frac{1}{\log x}$  ,  $T = x^{\frac{1}{2k}}$  ,  $H(x) = x$  , and  
 $B(s) = \frac{1}{s - \frac{1}{k}}$ , we have  
 $\sum_{\substack{n \le x \\ (n, pq) = 1}} a(n) = (x^{ks} - 1)(x^{ks} - 1)$  ,  $(x - 1) = (x - 1)$ 

$$\frac{1}{2pi} \int_{b-iT}^{b+iT} z(ks) \frac{(p^{xs}-1)(q^{xs}-1)}{(pq)^{ks}} \frac{x^s}{s} ds + O\left(x^{\frac{1}{2k}+e}\right)$$

To estimate the main term, we move the integral line from

$$b = \frac{1}{k} + \frac{1}{\log x} \quad \text{to} \quad a = \frac{1}{2k} + \frac{1}{\log x} \quad \text{Therefore,}$$
$$\frac{1}{2pi} \left( \int_{b-iT}^{b+iT} + \int_{a+iT}^{a+iT} + \int_{a-iT}^{b-iT} \right) f(s) \frac{x^s}{s} ds$$
$$= \operatorname{Re} s \left[ f(s) \frac{x^s}{s}, \frac{1}{k} \right]$$

Note that  $\lim_{s \to 1} z(s)(s-1) = 1$ , we may immediately get

$$\operatorname{Re} s\left[f\left(s\right)\frac{x^{s}}{s},\frac{1}{k}\right] = x^{\frac{1}{k}}\left(1-\frac{1}{p}\right)\left(1-\frac{1}{q}\right)$$

Now from the estimate

$$\left|\frac{1}{2pi}\left(\int_{b+iT}^{a+iT}+\int_{a+iT}^{a-iT}+\int_{a-iT}^{b-iT}\right)f(s)\frac{x^{s}}{s}ds\right| << x^{\frac{1}{2k}+e} \text{ we can}$$

easily get

$$\sum_{\substack{n \le x \\ (n,pq)=1}} a(n) = x^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} + O\left(x^{\frac{1}{2k}+e}\right)$$

This proves the lemma.

Now we prove the theorem. From the properties of geometrical series and the definition of  $e_{pq}(n)$ , combining the lemma we have

$$\sum_{\substack{n \le x \\ n \in A}} e_{pq}(n) = \sum_{\substack{a \le \log_{pq} x \\ k \mid a}} a \sum_{\substack{n \le \frac{x}{(pq)^a} \\ (n,pq)=1}} a(n)$$

$$= \sum_{a \le \frac{\log_{p_q} x}{k}} ka \left[ \left( \frac{x}{(pq)^{ka}} \right)^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} + \left( \left( \frac{x}{(pq)^{ka}} \right)^{\frac{1}{2^{k}+e}} \right) \right] \right]$$

$$= kx^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} \times \left\{ \sum_{n=1}^{\infty} \frac{n}{(pq)^n} - \sum_{a > \frac{\log_{p_q} x}{k}} \frac{a}{(pq)^a} \right\} + O\left(x^{\frac{1}{2^{k}+e}}\right)$$

$$= kx^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} \left[ \sum_{n=1}^{\infty} \frac{n}{(pq)^n} - \frac{1}{(pq)^{\left\lceil \frac{\log_{p_q} x}{k} \right\rceil}} \sum_{a=1}^{\infty} \frac{a + \left[ \frac{\left\lceil \log_{p_q} x}{k} \right]}{(pq)^a} \right] + O\left(x^{\frac{1}{2^{k}+e}}\right)$$

$$= kx^{\frac{1}{k}} \frac{(p-1)(q-1)}{pq} \left[ x_{p,q}^{\frac{1}{k}} + O\left(x^{-\frac{1}{k}} \log x\right) \right] + O\left(x^{\frac{1}{2^{k}+e}}\right)$$

$$= \frac{(p-1)(q-1)}{pq} a_{p,q} kx^{\frac{1}{k}} + O\left(x^{\frac{1}{2^{k}+e}}\right)$$

where  $a_{p,q} = \sum_{n=1}^{\infty} \frac{n}{(pq)^n}$  is a computable positive con-

stant.

This completes the proof of Theorem.

### References

- F.Smarandache. Only problems, not Solutions. Xiquan Publ. House, Chicago, 1993.
- [2] Lv Chuan. A number theoretic function and its mean value, Research on Smarandache problems in number theory (collected papers). Hexis, 2004, 33–35.
- [3] Zhang Wenpeng. An arithmetic function and the primitive number of power p, Research on Smarandache problems in number theory (collected papers).Hexis, 2004, 1–4.
- [4] T.M. Apostol. Introduction to Analytic Number Theory. Springer-Verlag, 1976.
- [5] Pan Chengdong and Pan Chengbiao. Elemens of the analytic number Theory. Beijing, Science Press. 1991.